AP A, RS485 [ TAE MR/, FERIERT 4" GPIO fy i — N, fERECT, 420
8 GPIO W B N A — AN, XFEA A DAL 485 30 kb TR B R4S, IF HLEE L)
e 485 IR ROIRZS, A AT BE i i 485 B e — N7 1A Kik, B3R | NEA kR
=33

CPU: AM335X
EERS: WINCE

7E WINCE ™1, # RS485 44, &35 IRz, SLIE WINCE Hrif & I 1]
AM335X #AE 5 RIS A B -
\WINCE700\platform\common\src\soc\COMMON_TI_V {EG@HMON] 3 AMXX\SERIAL
MDD JZ 5 147 & « qq : 281453291
WINCE700\platform\common\src\soc\COMMON_TI_ VI\COMMON_TNSERIAL\COM MDD?2
TFHER TR«

Je oy MrERAE B VB85 LR/ RLELR 1) CPU Zi A7 83 R E A 00, BRI 27 A7 88 B B A0 7E Uk
A TERG, Filtn. ORI, FIFO [ E 4

GetSerialObject B %, tH MDD JZ i H], X B 2x i 5] —> HW_VTBL % #4445 MDD =,
MDD Jz= PLJ5 i s s st i 77 20, SRR &

AR U EEM R

HWOpen: JTJF & K%, £ WINDOWS API il ] CreateFile B8 %5 5t 2> FH 23X B, 47T
FFE O JE, BATH RS485 B B NI RS

{15 B esiE

re485_init (pFdd, pPdd-hipio);

r=485_send recv_switch(pFdd, ERS48SEECY, pFdd- hGpic);
re485 422 =witch (pPdd-UARTIndex, SERTAL MODE_ES485);

{E& : AXian

HWTxlntrs %6500 40, ik o6 80ZE FIFO fi i 2 S o TR0, e w390 485
HRAS e

1t I#¥plength == U]

{
fAEB R TR S AR
DEBUGHEG (ZOHE_THEEAD, (L"HEWTxIntr Dizable TX interrupthirn™));
ff Dizable TX interrupt
pPdd-rintrMasl &= “UART_IEF THE:
OUTEEGS (4plfar tRegz—>IER, pFdd-rintrMaslk);
LeavelriticalSection (hpFdd->hwCS);
Sethutoldle (pFdd, FALSE];

Sifwhile C((INEEGS (fplartBRegzs—>1SR) & UART _ISE TX SE_E) == 0);f
b-=485 =end recw switch(pFdd, ES485EECY, pPdd-hipie);
Set3CRTXEhi £1EmptyInt (pFdd, FALSE);

goto cleanllp:



FEIX B SE I R IR S5 15 LSR 2 A7 as RS AL A7 A

**pLendgth=0 i, AR ACEMINAETERL 1, LTI R3S

if (AM335x_UARTFifo_Size » #pLength)
i

SetSCRTYShi £+EmptyInt (pPdd, TRUE):

N, WG RILINA, AT 2 *pLength K i AFTAMAISRINY FIFO /M, #EF
B FIFO 7, 3 RSB AR A%l qq : 281453291
SetSCRTXShiftEmptyInt 55 5 ) S2EL 0 R -

static VOID EetSCETXEhi f+EmptyInt (VARTFDD #pPdd, UINTS imode)

fEO2 4 SERE4EsRY
if (2 == pPdd-PUARTIndex || 4 == pPdd->UARTIndex || 5 == pPdd-UARTIndesx)

i{f (imade)

pPdd->CurrentSCE = UART SCR_TX_TEIG_GRAMUL | UART_SCE_E¥_TRIG GEANU | UART_SCE_TX_EMPTY CTL;
OUTEEGE (hpF dd-plar tRegs-3CR, pPdd-HurrentSCR);

else
{
pPdd-YCurrentSCR = UART SCE_TE TETG GRANUL | UART SCE_EX_TETG GEANUL:
OUTEEGS (#pF dd->pllartRez=—»5CR, pFdd-CurrantSCR);
i
i
t

TE % H SCR 278

HWIOCHt s %h, A0 2 Nk

caze IOCTL_SET4SSSENDMOLE: / /4550 EetE o)
r=485_szend recwv _switch(pPdd, ES485SEND, pFdd->hGpio);
breal;

rase IOCTL_SET4SSRECYMOIE: //4G54EHiE=t
r=485_zend recwv _switchipPdd, ES4SSEECY, pFdd- hGpio);
brealk;

AT LR B 485 [l GPIO b @ A Xian
qq : 281453291

fﬂﬁ}%#? MDD E:
COM_Write B%:  SLR %01 ] WriteFile %S, 2 SIX

pFuncThl- #Toct] (piHead, IOCTL, SET4GSSENDMODE, HULL, 0, KULL, 0, HULL)

£ We call the zame write routine that a T _INTE dees. It gqueus as
S much data as possible, then returms. From then on, the nmormal
" interrupt mechanism kicks in

DoTxlata( pSerialHead ); f/FHGEEHHE BRI EEDEFSTE



BATHE DoTxData p& 7 T in—4> HWloctl B %,  FH b 5 5 Sieii 85 AR 1) 461
%@Elﬁ% DoTxData @ﬁﬁﬁfﬁ’fﬁﬁgﬁ%: Iaﬁﬂ‘jijiqj%ﬁ’%QU;Eq . 281453291

FXHE, KRBURECAES R, 2 H BT LIRS B A 232 38R, 78 Al 557 1 4243 1
THOLT, MCERWARRE, EEBINERA— T I3 .



